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2019

SANSKRIT
( Major )

Paper : 3.1

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following questions : 1x5=5

(a) What term is used to mean the Chapters of
the Ramayana?

(b) “EIG: TR
Who is ‘Sigedm—=ad:’ referred to here?
(c) What is the meaning of the term ‘T[Ef“T@T’?

(d) What is the name of the Santiparvan,
Chapter 191 of the Mahabharata?

(¢) How many types of Dana are there
according to the Santiparvan (Chapter 191)
of the Mahabharata?
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2. Explain any two of the following : 5%x2=10

31

(a) SeTafcrm: S, arar Rgfe: |
ferar SlaeEeE aie TRERET |

(b) wEIIRvR: ha: Tz @ Ry
I geanET e figestn ||
(c) SFHE T T AR fAfiar
FEGHOTHT TR 34 ||
Answer any two of the following : 10x2=20

(a) Write a note on the elements of poetic
beauty of Chapter I of the Balakanda of
the Ramayana.

(b) Present the contexts of Chapter I of the
Balakanda of the Ramayana.

(c) Elucidate the idea contained in the
following :

(i) T3 SERISHT T |
(ii) SraTsHTTAT T AR frl%t'ﬁwi

Explain any two of the following : 5x2=10

(a) T TS T AR M|
A AR TEEaTT T AT |
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(b) SHDA g IY I FHME YA |
TRt A I aTeRt FoHads ||

(c) SAfafede R TaIq gfafEdd |
H T g a6 JOIHTRH T ||

Answer any two of the following : 10x2=20

(a) FEARIGUH TS e G| ;
T W & TR ¥ ThiERa ||
Who is the speaker here? To whom it was
stated? Explain the features of the first two

Aséramas as you find in your prescribed text
from the Mahabharata.

(b) Write a note on the contents of
the Santiparvan, Chapter 191, of the
Mahabharata.

(c) Write short notes on ‘¥’ and ‘B,

Read the following passage and answer the
questions in Sanskrit :

HEIT TR =0 99yl gfewfy &7 & o
IITGAIRAT: Iy e s sivauerd: gfé waf~
T | IO T IToaTeTard Avge ST | a9 Aumr
e Thi A (RTIgUadT i were e a9 /Al

T3 WyAfd | O F UERT: Ifhiaq F18, Juag W a1
AR O O IR] qRAf S
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(%37) [B&H)

AET IRV F Fow A AL A — (f) TIER: AN F: TG: qrEai S 2
‘ot FeRl 7 TR fead | od e @ 3w w6
: : Bre T CiE| CRIGH

FfI. ATET IFEd— ‘GIHRET AT § U Fiog: Id (g) W?W & g fH s
|yt fAAREReT AT ) qeag. T TR 1 ] 7

T=m: | (h) F=IEAn: FIE: TAGIYN 6 EET! 2

T T AT AT HERGAT: FE: FFed— AT fhfen | ) e, TR T SR

T4 A T4 AT, (487 He=AT &R~ fivh - - 7| 2

hg-SHFA HEREE: | gl JA: SR —

 TTEATEGRT: 999, 36 e HIROTH 7 S | 97 g () ‘omFRT oo wm st st 3 T

T =BT TR foreadr | 2

Y SO e § WNl AEq WEEY IREEfd 9Ed : ot

QUHRYT  FHAfGaRET  afed: | @4r AW afe | |

ARG Frreea sramel afEf| o B
yged: oIy Afesdren gfcaT: | qq: S JOEeTE
AR STHTE | a7 T3 WEET: 99 STa=qa— 1! &an:
T | SEHRAT: STy eeHIgeRT: ||

(a) YT TS o e shief &7 1

(b) TISFIE I AgE A 1

(c) TRTEIgTT i: 3o gffy w2 1

(d) F TERTE IS A qreafs v 1

(e) fomey smam: Fawa: srmEa? 1
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